70%45.LN0.1 50mBEREKE[ZEF]

#HoL— C2L:L] YHF HR a3—X IV~ L FCE%
1 2FEHBR Yang ®F g  BI10 1:14.15
1 3 /h#K BB anNyy A7) T B10 47.44
1 4B ER vFE a9t Z  B10 50.53
2 28K &EEP AR F 1A' i B10 51.68
2 Q3 EHBRK YIny 14 Z  B10 44.29
2 4ABAKIEBEF 2% 13 X BHK 4358
3 2%&F EF h%a ab X BHK 44.40
3 3 KIF I TAvh n x B 42.89
3 4 hE FER ThY' ) Nt X 'K 41.75
3 5 ER IR Tha )t x BN 42.47
4 2 KH FEiR A4 3k T BH 42.51
4 3REEH AN IHE X 'K 43.40
4 4Nk BE b 7UT x BN 39.94
3 S5 ELHLE  AFYVETS Z B 39.94
5 2/t B5Th M) X 'K 41.04
5 3IHMAEMLRF A% vaa T BH 36.01
5 4B ER ~Yh7 171 X B 39.44
5 51RB D% VndvE x BN
6 20O WwLs FIYF 248 Z EFB 36.39
6 3B S57zE ¥ 75 X B 36.11
6 45F5hTFE IvER FHY X BK 36.30
6 5 FK &5F JRAI V) x B 37.10
7 2BHEEARF YRY7 13 Z EFB 35.07
7 3E/NFH  nthTFY X BK 34.85
7 4LtREX ING VT3 & EFB 35.75
7 S5EFMABAR T EEN x EFB 3458
8 2&FHHF h*a 94 X EFB 34.66
8 3 B BIEF] 4hnY ehY & EFB 34.23
8 451N ahny % X EFB 34.03
8 5[y M 297 #¥h Z EFB 34.87
9 2WLE = yeLny Z EFB 32.36
9 3 KH HFH5R L IVUN L EFA 30.85
9 4 R &K N¥07 11 T EFA 31.41
9 5AHABER 1949 h43 X EFB 34.07
10 2 8K TER AR By L EFA 30.21
10 3 M4k EK I L " EFA 28.97
10 4 HHEZT4E ENVE A T EFA 29.96
10 5 Bk KL h7° ) 3 T EFA 30.48




70%45.LN0.2 50mBEHEKEIBEF]

#Hov— ) 2UHF R a—X IUhY—B1L FOER
130 ¥ Y5 F 74b 5 B10 59.62
1 48HBKREE ARF Y9V =] B10 52.73

2 XH 1&4&8 A744 a9k 2] B10 50.92

3 LA X Yv4 eak 5 B10 46.62

4 EX —if L¥Y 47°% 2 B10 47.22

2 LA &t YITF Yy =2 B 41.76

3EHHABE OZ N &5 B R 41.76

4 70O FNER V9 F ARTH 5 B 4356
4 2 FH M 734 hA'k 2 B 39.64
4 31U\ &K YVI'F 14 E: B 40.43
4 4 Fith B 9% 3 +b 2 B 40.13
5 2{REZER 1N EE$ 5 EFB 34.48
5 3HAREE AR % vany B #EFB 34.48
5 4 Fih £5F 1% 2 EFB 36.23
5 bLREAEE 9INA T+ 5 #EFB 37.45
6 2Z=HAMN YRY M E: EFB 32.78
6 30O MK V0¥ vans B EFB 31.60
6 4 EFEKA 9ING 19k g2 EFA 31.20
6 5=k E Ivby Yan: B EFB 34.66
7 2 BF% KB WMy 147 B EFB 30.91
7 3 1kER £/ Hhy 4h7% E: EFA 29.92
7 4 FHEZE ¥4 97 &5 EFB 30.09
7 5uNth BERER  a44 3409 E: EFA 31.12
8 2 EBEBE ANy LY L EFA 28.19
8 3 M HE Ny eiER 2 EFA 27.35
8 4 LR R DIYh vy B EFA 28.10
8 5EZEX % 194 5 EFA 29.59




7A45LNO.3 100m/\475([EF]

#H oL C2L:L] 2UHF HR a3—X RAP FEE%
1 2 &Y XA *vvaniag & EFA 32.26 1:12.42
1 3 MR Em WIY Y & EFA 32.26 1:11.05
1 4HEHEE4E EAVE 4bn & EFA 32.05 1:09.49
1 3&EHWEH o eny B EFA 32.74 1:11.63




7045.LN0.4 50mEKF[ZHF]

oL C2L:L] YHF R a3—X IUh—51L FEE%
1 2 EAF Y wES g4 B10 1:03.14
1 3 M XM, =YL T+ = B 52.76
1 4HKEKEF 22'%193 8 B 56.71
1 5 KIF b TAh 9 S B 1:00.64
2 2k BE by 7ot z B 50.90
2 3 LtFEEX 9ING VT3 X EFB 47.24
2 4O YIYF a4h X EFB 46.80
3 2 AfIE % 791 8 B 47.03
3 3IERB/IFH  nthm 7Y = B 46.17
3 4 BHX B&GF JRI kXY = B 45.25
3 5EBEM Ghny ¥ Z  #EFB 4568
4 2 XH R R KU 9 EFA 43.47
4 3 FHHEBE 199 h47 X EFB 41.91
4 4%BRZ IE'NG 1} & EFA 39.65
4 5 BEER E% 1IN YR°h T EFA 40.43




7045.LN0.5 50mERF[BF]

oL C2L:L] YHF R a3—X IUh—51L FEE%
1 2HARBE AR YD 2] B10 1:02.47
1 3 EHABE Dz B B 57.09
1 4 UA KX ¥4 enb 58 B10 1:03.37
2 2 FH A3 774 hA'h 58 B 53.79
2 30 #K Y'F 144 B B 56.61
2 470 FER UIFhAY B B 51.80
3 2 {REEH 1N EE'F 5 EFB 43.74
3 3ENWEE L' ¥ 494 5 EFB 39.56
3 4ZAN YA3 ML 5 EFB 42.75
3 5 Fith B 97 144 5 EFB 44.94
4 2 F[REA 9INg 19k 5 EFA 39.05
4 3 EBE ERK VIVEVVES 5 EFA 41.78
4 4 FEHEZE t¥4 97 5 EFB 38.53
4 50O HK U Fvans B EFB 40.19




7A%45LN0.6 100mERFES]

oL C2L:L] 2VUh+ HHR O—X IUR—51L RAP FOE%
1 2HE$FHF 4Th 7Y Y EFA 35.37 1:12.89
1 3 EARE L' ¥ 494 B EFB 38.84 1:21.84
1 4185 HF 79U¢ 71% x  EFB 39.06 1:23.45
1 5 AE XRF Ym¥7 111 Z  E#EFB 4093 1:25.71




JA4S5LNO.7 100mBEAARL—[EE]

1 1 A& Yanq’ £t g4 B10 2:57.83
1 25 XRE ahny 34% k4 B10 2:46.03
1 30O #EH YYI'F 7Eb 5 B10 2:26.80
1 4FEHBREK g 14 = B10 1:53.36
1 5=k XK IVNY HE k-4 B10 2:13.24




7045.LN0.8 100mBREK[%EF])

oL £ Hi YA+ Hhl 3—X TUhY—5A L RAP LR
1 2 % Ex IWIY I & EFA 30.77 1:04.44
1 3 FR &4 N{'977 11 K EFA 32.15 1:07.83
1 4B BIEF  4ny enY x  EFB 34.94 1:13.58
1 5 KRB/ FH  »seh'7 7% S B 36.99 1:18.31




7045.LN0.9 100mBEHEB[EF]

#HoL— £ Al 2V)4F HAl 3—X I —5AL RAP FCE%
1 2B #X % 294 5 EFA 31.88 1:06.89
1 3Bl HE ahny Ly B EFA 30.47 1:03.58
1 4 B3R kB DA B B EFA 30.82 1:05.74
1 5 /it BERER 247 2409 B EFA 32.33 1:08.36
1 6 B kiB w7 B O EFB 32.86 1:10.93




7A45LNO.10 50m/\4751[%&F]

oL C2L:L] YHF R a3—X IUh—51L FEE%

1 2=k £ IVNY HE k- B10 1:07.57
1 3/hHEE WHy a9 & B10 58.33
1 A EAF Y wES k-4 B10 1:07.32

2 83K IKEEP AZRE 1AM k-4 B10 59.72

3 hE ¥EA THY') Wik & B 51.11

4 KIF 1D FAvh 39 8 B 51.65
3 2xWLEHE AXYVETT X B 53.38
3 3REEHR IN % z B 52.82
3 4AmEEBR o TUF = B 50.33
4 2 XKH FEiR A4 3k k- B 4717
4 3 R EM =YL T+ = B 42.74
4 4FhTFE Iven ¥4y = B 4459
4 S5EFEE h%a ak = B 48.41
5 28K EKF ARF Va3 T B 37.98
5 3 HXK &F JRI kXY = B 38.20
5 410U YI)F a4h X EFB 37.96
5 5B 57z(E % 75 k- B 42.58
6 2=EFHF hxa 94 x EFB 38.18
6 3UEE YvLo )y = EFB 36.55
6 4= R ahny ¥ x  EFB 37.07
6 S5EFMAR HTT EEN &  EFB 36.48
7 2 %W EhA oA i & EFA 31.51
7 3IBRZE IE'nG 14 T EFA 33.07
7 48K ER ARE HYY = EFA 34.54
7 5 KH IR T2 99 T EFA 34.54




7A4S5LNO.11 50m/N\475A/[BF]

oL C2L:L] YHF MRl a—X
1 2 FHABE 194" Nk 5 B 52.81
1 310 &K YIU'F 44 5 B 50.34
1 4 Fih 55 ¥9F 31 58 B 46.46
1 510 &8+* YT )Y 5 B 49.06
2 2=k E VMY )iy B EFB 38.51
2 3&HWEH Fovameny B EFA 31.35
2 4 Bk KiE h7he) 143 B EFB 33.47
2 5N ES 9INn4 Tt 5 EFB 41.71




Z7A45LNO.12 100mEXFLRE]

oL C2L:L] 2UHF HR 3—X RAP FOE%
1T 2 M HF Ny e 5 EFA 37.67 1:20.11
1 3EHEZE t¥4 97 = EFB 41.16 1:26.60
1 4%FAM YAY ML 5 EFB 43.90 1:29.50
1 5 AH#EK 199 h47 X EFB 4213 1:29.50




704 5.LN0.13 50mE#RF[&F]

oL C2L:L] YHF R a3—X IUh—51L FEE%

1 2 KH E5 A4 a3k k8 B 51.20
1 3 HE %A P VNIV S A 50.97
1 AfREEH IN 3% = B 53.00
1 5 /V#K BB aNYY 411 k-4 B10 55.15
2 2REWBHE  AFYITT X B 49.24
2 3 Mk BE ) 7Ut z B 49.24
2 4XRDE YFY z B

2 5 Ef FiR Tha Nt 8 B 52.91
3 2P A57E % 74 k- B 42.99
3 3Wa L YY) F aqh X EFB 39.37
3 4750 FE vkn ¥4y = B 43.97
3 5 FF EH =YL T+ = B 45.81
4 2@ thFE 297 Hvh X EFB 39.81
4 3WBRE HH 7993 71% & EFB 37.54
4 4 1UEE Yvaoyy X EFB 42.12
4 S5HEXEARF YOy 113 X EFB 41.29
5 2 H&ER A% VARZY)) . EFA 36.79
5 3#KER AR By = EFA 35.43
5 4H$BH ah Ty 9 EFA 34.67
5 5 B KL h7hEY) 2 & EFA 35.43




704 5LNO.14 50mERF[EF]

oL C2L:L] YHF R a3—X IUh—51L FEE%

1 2 KH &8 A4 19k =) B10 58.08
1 3EAB A LYy 47% B B10 52.93
1 4 FHABE 194" Nk 58 B 53.52
2 2 FH A3 774 hA'h 58 B 48.29
2 3 FH B 9% 31 B B 46.54
2 440 B+ YWrumy B B 47.94
3 2%MA AN YRS ML 5 EFB 41.21
3 JmEEE kY B EFB 4153
3 4 Zgith B 97 1%b 58 #=FB 43.41
3 S5HEENZEE 9INA T4 5 &EFB

4 28H/RKREE AR¥ Y31 B EFB 40.36
4 3 B HEH v/ a4k 85 EFA 35.30
4 A ERRE L' ¥ 494 5 EFB 37.97
4 5 {REZEHK 1N EE'S 58 #=FB 40.91




